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Rational or Irrational

Identify the following as rational or irrational.
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Identify each of the following as rational or irrational.
Then choose the appropriate rule that justifies your answer.

Rules:

A. The sum of two rational numbers is always rational.
A The sum of two irrational numbers is sometimes irrational.

C The sum of two irrational numbers is sometimes rational.

D The sum of one rational number and one irrational number is always irrationa

\«\ . The product of two rational numbers is always rational.
HU F. The product of two irrational numbers is sometimes rational.
G. The product of two irrational numbers is sometimes irrational.
H. The product of one rational number and one irrational number is sometimes irrational.
I. The product of one rational number and one irrational number is sometimes rational.
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